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Class XII Chapter 7 - Integrals Maths

Exercise 7.1

sin 2x
Answer

The anti derivative of sin 2x is a function of x whose derivative is sin 2x.It is known that,

—[ccmlx} =-2gin2xy

dx
—5in2x = li(cns 2x)
dx
) O 3
Ssn2y = i ——cos 2y |
darel 2 J

. . 1
sin2x 18 ——cos2x
Therefore, the anti derivative of

Cos 3x
Answer
The anti derivative of cos 3x is a function of x whose derivative is cos 3x.

It is known that,

i[.‘;in Jx)=3cosix

ax
|7
= COS3X = {51113_1.']
3 dx
. dil . j
Seosixy=—/| —sin3dx
el /

o1
cos3x 15 —sin3x
Therefore, the anti derivative of

e2x
Answer

The anti derivative of €2 is the function of x whose derivative is e?*.

It is known that,
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dx
_r_li"’l.
= _2;,&[ )
Ix ilrlr\‘
‘ _dx[f J

Ix

o1,
e’ i —e"
Therefore, the anti derivative of

&

(ax+b)

Answer

A

The anti derivative of (a_r +h]

It is known that,

ffr 3 ¥

—(ax+bh) =3alax+h)

4 (@ +b) =3a(av+b)

= (ax+ h}1 _ i{ar | ]
) 3a dx

;{mr+h]1:j£[—L{a¥+hf]

dxl 3a

(ax+ h]J is L{m‘ +hY

Therefore, the anti derivative of 3a

sin 2y — 4™

Answer

sin 2x —de'’"
The anti derivative of { )

sin 2x — 4e™*
( )

It is known that,

is the function of x whose derivative is

is the function of x whose derivative is
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{ 1 1
—d —lcos Z,r—ie”j=sin 2x—de™
a’x\ 3

(sinzx—%-‘") ( —CO8 2.1:—_;;“']
Therefore, the anti derivative of is .

Question 6:

ﬂ‘kﬁg "+l }dx

Answer

I[‘k:*g "+1 }dx

=4 Ie‘; v+ J]dr

4[631 ]+x+(j
3

4 .
=—e" +x+C

Question 7:

(-2

Answer

I-*j []—xl—j]d'c
= [(x*-1)ax

= [«'dv— [ids

=X _x+cC
3

Question 8:
I{H.f? +hy+ C]L'IE‘E

Answer
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j‘{c‘r.u:2 +hy+ c]a{t
=q Jx"dx +h jxdx+ ¢ II .y

_ a["_"] b["—'}rm e
3 2

ax’  bx’ .
= —+T+cx+t’_.

3

Question 9:
I[Ef +e”)u‘x
Answer

I[ZA:2 +é" )u‘x

=2 I.r:d.r + J‘e”dr

:2[£]+e" +C
3

= 2_'r"'+r3’“'+1’.:‘
3

Question 10:

(oo

Answer
(-
1

=J[,f+;_z]ax

= dex+ J%dx -2 II (e

= +loglx|~2x+C
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Question 11:

j'Jr3 +5x° _4.5:’1

)

X
Answer

j'xi + 5{: _451’1

X
= J{x+5 — 4y )dx
= jmfx +5 _[l Ly —4 jx':d_\:

2 -1y
=X isx—4/ X |scC
2 1

>

=X serdic
2 X

Question 12:

X 4+3x+4
—ix
"

Answer

X +3x+4
.
e

5 | 1
= _r(r] +3x? +4x ? ]a’x
3 |
— 24

+——_ 4
3 |

2 2
7 3 1
20T 4824 C

| =

7 3
24252 18Jx +C

~d | b =D | B pd | =
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j-x" —x 4 x-1

el
x-1
Answer
j-x" —x +I_1a’x
x—1

On dividing, we obtain

= J{ x4 I)dr
= Jx:d.r + Jld.r

:£+_r+(l
3

I{I —.T]x-'r;a’.r
Answer

I{I —.r]x-'fza’.r
{ 3%

= ﬂ Jx —x? }ir
L g

= jx;ca’x - Jx;dx

x?

.T:
=375 1¢
2 2
:Ex“ —%r’. +C
3 3

Iw"';{lr: +2x+ 3}-::"):

Answer
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j‘w"';(}x’ + 2.r+3}dx

5 k] 1
= _I(sz +2x* +3x° ]ﬂ’x

= SIx;dx +2 Ix;:dx+ 3 Ix;air

_ J(': - _‘(2
3 7 +2 3 +3 3 +C
2 2 2

Question 16:
ﬂlﬁ:—,‘rcosx +e" )dx
Answer

j‘[lr—,’rcosx+e*)dx

=2 Im’x -3 Ic:}s xelv + .I-e'T dx

:E—S(sinr}+e" +C

¥ -
=x"-3sinx+e" +C

Question 17:
ﬂﬁxz —-3sinx+ Su";)dx
Answer

J-(Ex: —-3smx+ Su’;)dx
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=2 J-xzdx—B sin xelv + ijlla’x

[P

=2i—3{—cosxj+5 * l+c

L% ]

2
=Ex5 +3cosx+ ?r +C
Question 18:

Isec x(secx+tanx)dx

Answer

Iscc x(secx+tan x)dx

= j( sec” x+sec xtan _r:) dx
= Im:z xdx + _[scc xtan xdx

=tan x+secx+C

Question 19:

¥
sec™ x
I elx

cosec’x
Answer
j- sec” x

X
COsSec’x
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1
_ jcmizx "

. ¥
smn-x

dx

sin’ x
- '[L'us:x
= Itan] xelx
= I(sec: x— I]aﬂr
= jsec3 xelx — J] dx

=tanx—x+C

Question 20:

j-Z —3im x e
cos° x

Answer

1-2 ~3sinx e

2
cos X

2 3sinx
= - — |dx
Ccos" X  CO8 X

= jE sec” xdx -3 flan vsec xdx

=2tanx—3secx+C

Question 21:

)

The anti derivative of

1 1 .

r+2x*+C 2.1'3+I."{"+C
(A) 3 (B) 3
1 1 3 1
E.r1+2x3+{:' 3.r1+ x+C
©) 3 (D) 2
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:Jzﬂk:%:]dx

= j:r;dx+ j.r Idl

4

+T+{T

2

E] |

)

=" yi42x24+C

LI w|.—:

Hence, the correct Answer is C.

L r)=ar -
If dx X" such that f(2) = 0, then f(x) is
4 1129 s 1 129
L S e T
(A) X 3 (B) X 8
. 1129 s 1129
Xt — X —_——
(C) x 8 (D) X 8
Answer
It is given that,
d . 3
— flx)=4x ——
" f(x) _H
;3 .
- =f (x)
~Anti derivative of A

10
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()= j4.r-' —xi_,u{n:
flx)=4 J‘x?dx -3 I{,\"J }a‘.r

47 -3

fl[l'_]=4[x |—3| . ]+C

Also,
f(2)=0
rmd ]
f(2)=(2) +—5+C=0
(2)
:\16+1+C—{}
8
::—C:—[Ifs+ ]
C=—I29
8
;1129
}"{I]—J. r,u.l R

Hence, the correct Answer is A.

11



